A2 Kjabew A A Analyes | 30 MA¢

1a) D=R\{o] "
£ == 0V oy oy

X2-3x U (x+A) = x -y 4V

e )(31-)(2
2 A
_(:"::‘::.r:lx) X2z : X°-Uxit=(x-2) =0 K,3= Z 54%0,:14.
—TGx 4l (a,?ﬁ‘/mc\*lv m*machb/cm/)

Ux+y
~(Ux +4)
0

b) J@m {(x)- -0 V

._...yo

x_w f(x

c;) Scmtir(o(,ﬁkw“cS\,mpio\-e,; =0 V

waagredhie. Asywptoles y=A v (x3 :
{-x* v

-3+
2 — - o+ -
L x3 =D Avmcx\r\bmw\c) von cken
K00 ’

_3')(1&‘* - .
L\_wa 3 =0 =v AvaWﬂuﬁ von unten ¥ SP

A ’ x3(8x2-€x)~ (3-3xH4)3x" Y x (3¢t -6x)-(xF-3x%4)-3 Vv
) { (X\= 3 = — ”
X X
33~ 6x* - 35349512 Ik V
- T

-

X‘-r

£ =0 fD=2  —ve -2V
3KE-A2=0 2\ =0 =g (210X
xt=Y 1 (Z-\ - )
Kag = x2v ’
Y(Ly I 3V 2 2 - 2 v
(6X)-(3x7-42). 4% 7 €X=@x%M) 4 6x¥-mx a4y —6xliyg

| {:"(X\" z X3 =

RS - IS NS
-6 4ty e
P(-—z)’ Ty <O => E, 15t HOf v

(-"(Z_) -6 L“\'Lﬁg >U v EL ;S+ TlP \/

Mono towte tofelle. ¥

Al kmaty -




S ey
2 N S XAIXF
) 3\()(\- X (X 1)

> A c) A= N+ 3
(A
~3% :\‘ o)
X
,SXL*('\=O v
3xt=M \:3
L T
==z \
i 5 o> ("A\’WM\%
\O(fuz_ﬁ?“\“/“1 S‘L(A\/lf\/\))‘
% ¥ [enchnic
\ K< |7 <x< 0’<X<\21 <z

{ | 1
—— - | La
| | \ | % X
; | | EP“'/;
X LN T | X,
6 -5 4 -3 2 0 1 TP 3 7 % >
‘é ’ X
1
|
:'1 J
1 H
-—
‘ -2
! !
! |



